Directions: First identify if the following compounds are ionic (I}, molecular (M), or an acid (A}. Then

write the correct name.

SrCrQOy4
L ¢

H,50,

A

Cu(NOs),

=

A

HNO;

A

Nzo5

M

HMnO4

NO,

PbS,

HC,H50,

cO

Zn(OH),

A

Si‘ram"‘u‘ww\ C\"\fbwm‘l*é

S U&‘\Quu" L C CLccei

Colﬁ,ﬁve(‘ (D nitate

V’\;_\.f\‘c QC(*

aAi ml\“@; € f}@v’f\m@ ri &“@

peroﬂ/\av\/aam ac aod

M\If/?{; £A AIO w‘dz €

)'Earj WB SU\\CCJ *

a ce{“«‘c a.ccal

s o.r\oon VINgg g foae

Fr Al \,\_\1 anom“er

SBr, sulfur hid@mide
M

SP\?\4 $w\%&f tetrao “zaf(i €

NasPO,  Sodivwm .;ms,a hate

AgNO; Si\ver ml‘\‘fm‘\‘ﬁ

I

CaCO; {@Xﬁx‘um Qm?‘sﬁgﬂ&\{‘“@
X

HCI {/\f\lfﬁﬂmr Hwtc au‘A
A

FeO iron (T n‘m“o&ve
T

H,S0; Su\\%w«u»us au‘oﬁ

A

(NH4):Cr07 _awimagnduwa (JQ\‘C\AJ?MQ &

o

KCl ‘00—\655:‘&\/\4 C,i't\,aﬂ“c/a\a
T

NaClO 500QRw/\A I/\N, éﬂn C(/LLO/‘\f-e.

g~

T




ALL MIXED UP

Directions: First identify if the following compounds are ionic (1), molecular (M), or an acid (A). Then

write the correct formula. .
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hydrobromic acid
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